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JI2ZHI(THat2tel ) 22,320 20,232 2,088
201 Zet2& ] 8,640 12,672 A4,032
01 AtR2telbl 8,640 12,672 A4,032
O THetate|8 g8 SEl
8,640,000 8,640
202 OH| 13,680 7,560 6,120
01 ZLHA LI 13,680 7,560 6,120
O Jl= =WHobl 5,760,000 5,760
O 283 JlE =Uodl 7,920,000 7,920
JI2BHI(DEAZIIRZTF) 5,184 0 5,184
201 Zet2 & 2,304 2,304
01 AtR2telbl 2,304 2,304
O NSMEIIRSTF LRFE S|
2,304,000 2,304
202 OH| 2,880 2,880
01 2L AL 2,880 2,880
O Jl= =WHobl 2,880,000 2,880
5.8 HIES2IZHI(HR) 245,400 245,400 0
.8 QA2FH| (R 50,400 50,400 0
5.9 SA2FHI(H2D) 50,400 50,400 0
204 MRt FH| 50,400 50,400 0
03 S3g 23| 50,400 50,400 0
O NREg22d g2asH(8.9)
100,000 x42F « 122 50,400
g.¢ JI23HI(HRm) 195,000 195,000 0
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